
MY BIRTHDAY!



� This is Sue. She is two.
� That is Joe. He is four.
� This is Kate. She is eight.
� That is Ben. He is ten. 



� 1+2 = 
� 2+3 =
� 3+4 =
� 4+5 =
� 6+2 =
� 7+3 =
� 4+4 =
� 2+8 =
� 1+9 =
�   One plus two is …(Three)



ПЕРЕПИШИТЕ СЛОВА В АЛФАВИТНОМ ПОРЯДКЕ.

� Candles, birthday, party, happy, sad, table.



НАПИШИ НЕДОСТАЮЩИЕ БУКВЫ

�Ha _ _ y,        s _ d,      
�   n _ n _,        t _ o,    
�    on _,           p _ rt _,        
�   c _ nd _ es   f _ v _,
� f _ ur,            e _ g _ t.



HOMEWORK

� Ex.3 p. 47 читать


